: Y 3 Y : |

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION ,1998 MATED WITH: LoC DIST REVISIONS
VERTRAULICHE UNVERQEFFENTLICHTE ZEICHNUNG FREI FUER VEROEFFENTLICHUNG PASSEND ZU: AENDERUNGEN
(© copyRiGHT 1998 BY AMP INCORPORATED.  ALLRIGHTS RESERVED. - Al - T TR DESCRIPTION DATE DWN | APVD
i BESCHREIBUNG
PR_DJEKT NR.: AS Packaging added ECR-06-021227 04.09.06 SR SM
_ 2 156 M3x10 3
Schraubversion | 1 M3x10 & 17,8 M3x10
Thermo Crimpversion / \Federklemmversion
| | | . .
5 [ 7 7/ [ \ | \ i Montagehinweis
. 4 4
10 D D o o P @ P D D O ,
P 5 -S> St A
| ~ ! ,
| | | | /[
I | I I | I I | I T i t
o | o L i = S i s A HEINT T
| ~ | ™M | ~ | | ~ |
I I I I I I I m |
! ' ! ' ! ' >
| | | N [
B 57 o B 57 N B 57 N |
B 63 N B 63 N B 63 N o |
| Bu
Bedruckung 1-10 Thermo y I .
Ve Notes, Abstand fur sichere
1 A A Material, insert: PC A Strip lenght: .
T /2\ Kontaktanordnung Materil nsert PC bl kontaktgabe max: 21 mm
* B S D COHTBCT arranqemenf A Material contact: Fe Spring clamp <onection 10mm
@ Crimp conection 7.5mm
66060 Ansicht Anschluf3seite A\ Material contact: N /\ Material: cover PBT
6- 7- 8- 9- 10- A . o Konstantan UL-File Nr.: E69578
\—I_ view from terminafion side A Contact Surface: A Packaging: 200 pieces
Silver, Gold
Bedruckung 1-10 Schraub
+ 1 L + VAVENV/
2 L Befestigungsschraube/fixing screw V2A/stainless steel|blank/even 10 |M3x10
® © & & O , — ) )
@ Lo| b L |4 | & | L |4 |Befestigungsschraube/fixing screw Stahl/steel vernickelt/nickel plated |blau/blue 9 |M3x10
666090 10 Kontaktstift Federklemme/contact spring clamp|Messing/brass vergoldet/gold plated 8
6 7T 8 9 10 ) )
\+ + 10 Kontakfstift Federklemme/contact pin Messing/brass versilbert/silver plated 1
10 ggr?ffaackfrsstfrfgwsgEF%lfr?aaﬂgﬁhlum Messing/brass vergoldet/gold plated 6
10 {10 /|10 | Konfakfstift Schraubanschlufl/ Messing/brass versilbert/silber plated 5
1 1 Deckel Federklemmversion/cover spring version /A lichtgrau/light grey | &
M3 B 50 - 1 Deckel Crimpversion/cover crimp version /N lichtgrau/light grey | 3
| 111 1 | 1 | Deckel Schraubversion/cover screw version /\ lichtgrau/light grey | 2
T N & 1111 1] 1] 1|1 |Stifteinsatz/pin insert /N lichtgrau/light grey | 1
| Montageausschnitt N ITEM NO. | REMARKS /
. | 0-3[0-2[0-19-5|7-1[2-3]1-7]1-1 DESCRIPTION / BENENNUNG MATERIAL SURF ACE/OBERFLACHE (OLOR / FARBE POS. | BEMERKUNGEN
— Panel cui‘-ou‘l‘ for confac‘l‘ |nser1' . - THIS DRAWING IS A CONTROLLED DOCUMENT FOR AMP INCORPORATED. DWN 10.02.1999
- - ORGANIZATION SHOULD. BE <ONTACTED FOR THE LATEST REVISION. 4 e HTS Elektrotechnik
o bei Verwendung ohne Gehause o A\ = AENDERUNGEN, DIE DEM TECHMISCHEN. FORT SCHRITT DIENEN, SIND VORBEHALTEN. anﬂ:af 18.02.1999 ,
= DEN JEWEILS LETZTGUELTIGEN AENDERUNGSSTAND ERFAHREN SIE AUF ANFRAGE. Schweiger e 53819 Neunklrchen, Germany
when used withaut housing J = DIMENSIONS: TALERANCES UNLESS 9
‘ & = e i -
| | S 2 M DIESSS | an.c  [PRODUCTSPEC Male insert
I <| s> <>': 2 < n. DIN 16501 = 140 PRODUKTSPEZ.
1 — = 0 PLC -
| 57 — g i L/I7 (/I7 % () L/I7 w E E@ 12';tg :: APPLICATION SPEC HE/lOSTlS/C
ElE|lE|E| 2|2l 8 3P # VERARBEITUNGSSPEZ. SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
65 niunln wvuiuvnivni wnln |z GLES /WINKEL _ # - ZEICHNUNGS -NR NUR FUER
o | o [=) (=} o|lo|lo | o g MATERIAL FINISH /DBERFLAECHE/FARBE WEIGHT —
= - Slo oG] ale]s]e] ] AAAAL SEwenT A3100779/C= 1103636 _
e el el Il B e CUSTOMER DRAWING /KUNDENZEICHNUNG|ossras 11 |aner 1w 1 |0 A5
AMP 1470-19 REV 27JUN96 This is a TRANSLATED file from

Computervision, Inc.,, Medusa Revision 12.2.5T

——

I




